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In der Vorlesung haben wir um das Teilsummenproblem fiir ein Array A[1...n] zu
|6sen das folgende Teilproblem gesehen:

O

T(%,s) = Ist s eine Teilsumme von A[1...1%]?

Wahr oder falsch: Eine Implementierung mit dynamischer Programmierung mit
diesem Teilproblem wird die Lésung des Teilsummenproblems in Zeit O(nC) fur eine
Konstante C' > 0 berechnen.

Bitte wahlen Sie eine Antwort:

O Wahr

ﬁ(Falsch

In der Vorlesung haben wir um das Teilsummenproblem zu 16sen das folgende Teilproblem gesehen:
T(i,s) = Ist s eine Teilsumme von A[1...4]?

Betrachten Sie die folgende Tabelle welche fiir ein Array A[1 .. . 3] mit dynamischer Programierung basierend auf diesem Teilproblem erstellt
wurde:

T(i,s) s=0 s=1 s=2 s=3 s=4
i=0 Wahr Falsch Falsch Falsch Falsch
i=1 Wahr Falsch Wahr Falsch Falsch
=2 Wahr Falsch Wahr Wahr Falsch
i=3 Wahr Falsch Wahr Wahr Wahr

Basierend auf dieser Tabelle, welche der folgenden Aussagen sind korrekt? (Achten Sie auf die Grenzen der Arrays!)

Wabhlen Sie eine oder mehrere Antworten:

1 ist eine Teilsumme von A[1 ... 3]

O a
){b‘ 2 ist eine Teilsumme von A[1...3]
X e

3 ist eine Teilsumme von A[1...2]

(J d. 4ist eine Teilsumme von A[1...2]
In der Vorlesung haben wir um das Rucksackproblem zu |6sen das folgende Teilproblem gesehen:
M(i,w) = Der maximale Profit, der mit den Gegenstinden in A[1 ... 14| bei einem Gewichtslimit von w erzielt werden kann.

Welche der folgenden Rekursionsformeln berechnet den Wert von M (i, w) richtig?
(Unten ist p; der Profit von Gegenstand i, und w; ist das Gewicht von Gegenstand i.)
Wahlen Sie eine Antwort:

O a. M(i,w) = max{M(i — 1,w), p; +M(E,w—w;)}

K b M(i,w) = max{M(i — L,w), p;+M(i—1,w—w)}

O c M@G,w) =max{M(G—1,w—w;), p;+M@GE-—1w—w)}

Sei A[1...10] ein Array von 10 verschiedenen ganzen Zahlen.

Wahr oder falsch: Eine ldngste aufsteigende Teilfolge in A[1 .. . 5] endet immer in einer strikt kleineren Zahl als eine langste aufsteigende
Teilfolge in A[1 ... 10].

Bitte wéhlen Sie eine Antwort: CA, 4 ,3]91’(6’ 6,7,8 i 9 i S ]
O Wahr B —_—

&Falsch

In der Vorlesung haben wir um die ldngste aufsteigende Teilfolge zu finden das folgende Teilproblem gesehen:
M(%,£) = Die kleinstmogliche Endung einer aufsteigenden Teilfolge der Lange £in A[1. .. 4].

Betrachten Sie die folgende Tabelle welche fiir das Array A[1 . .. 3] mit dynamischer Programierung basierend auf diesem Teilproblem erstellt

wurde:
M(i,2) =1 =y £=3
0= 4 00 00
=2 4 7 o)
i= 4 8 8

Wahr oder falsch: Die obige Tabelle muss einen Fehler enthalten.

Bitte wahlen Sie eine Antwort:
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You are given an array of n natural numbers ay,...,a, € N, and two natural numbers A, B € N.
You want to determine whether there is a subset I C {1,...,n} satistying

Zai =A and Za;" = B.

el i€l

Theory Task T3. (HSQ/D /9 Pl

For example,

e The answer for the input (a;)i<, = [2,4,.8,1,4,5,3], A =8 and B = 30 is yes because the set
of indices I = {1,4,6}, which corresponds to (a;)i<; = [2,1,5], yields the sum 2+ 1+5 =8
and the sum-of-squares 22 + 1% + 5% = 30.

e The answer for the input (a;);<, = [2,4,8,1], A =6 and B = 15 is no.
Provide a dynamic programming algorithm that determines whether such a subset I exists. In order

to get full points, your algorithm should have an O(n - A- B) runtime. Address the following aspects
in your solution:

1) Definition of the DP table: What are the dimensions of the table DP[...] 7 What is the
meaning of each entry ?

2) Computation of an entry: How can an entry be computed from the values of other entries ?
Specify the base cases, i.e., the entries that do not depend on others.

3) Calculation order: In which order can entries be computed so that values needed for each
entry have been determined in previous steps ?

4) Extracting the solution: How can the final solution be extracted once the table has been filled
?

5) Running time: What is the running time of your algorithm ? Provide it in ©-notation in terms
of n, A and B, and justify your answer.

Size of the DP table / Number of entries: _(n X (ArD x(B+4)
Meaning of a table entry; DP[_‘.I;)Ik_j: {/\ folls es en Suylesek Le {4,...,\:3 gbt SR dos i='%0tm und ")=MZEIQM7.

0 sorst
Computation of an entry (initialization and recursion):

Bose (ose: DPLi,j0l= O Yi,)>0
DPooKd=4  Vk
Relursion: DPE_i,o,K’_]:DDCi—AEB,'—Atk'.lz,)c-ﬂ v DPCi,j,k-41
folls 1<AET oddr jcALEI*= O
Order of computation:

mit steiendem k, Relnenfolge von 1 und.§ st egol

Extracting the result:

PPTA,B,N]

Running time: OQ(ABN)
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Theory Task T3.  FS21

Given a square matrix M € N"*" of non-negative integers, with n > 1, the goal of this task is to
compute the longest snake within it. In Figure [[] the top-left element is M), the rows are indexed
by the first index and the columns by the second. M;; denotes the jth entry in the ith row.

A snake is a sequence of entries of M, ie., s = (s1,...,s%) with sy = M, for ig, je € {1,...,n}
and £ € {1,... k}, that satisfies that the next entry s;,,+1 is either below the current one s, (i.e.,
i1 = tm + 1 and Jrup1 = jm) or to its left (i.e., imy1 = tm and jims1 = Jm — 1). This means that
there are no cycles. Additionally, the corresponding matrix entries are required to differ exactly by
1, i.e., s satisfies |s,, — s;,41| = 1, for all m € {1,...,k — 1}. The length of a snake s = (sy,...,s;)
is equal to its sequence length, which in this case is k. Figure E] depicts an example of a longest
snake of length 8.
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Figure 1: Sample matrix M and corresponding longest snake. The purple arrows indicate eligible
ways of creating a snake. Note that multiple longest snakes are possible, e.g., (3,4,5,6,7,8,7.6)
would be another snake with the same length as the highlighted one (5,4,5,6,7,8,7,6).

Use dynamic programming to design an algorithm that, given a square matrix M of non-negative
integers, computes a longest snake. In case M contains multiple snakes of maximal length, it suffices
if yvour algorithim computes only one of them.

In order to achieve full points, your solution must run in O(n?) time and address the following

aspects:

1) Definition of the DP table: What are the dimensions of the table DP[...] 7 What is the
meaning of each entry?

2) Computation of an entry: How can an entry be computed from the values of other entries?”
Specify the base cases. i.e., the entries that do not depend on others.

3) Calculation order: In which order can entries be computed so that values needed for each
entry have been determined in previous steps?

4) Extracting the solution: How can the final solution be extracted once the table has been filled?

5) Running time: What is the running time of your algorithm? Provide it in ©-notation in terms
of n, and justify your answer.

A nxn

2) BPCI,j3:= mox. Linge einer Scfonge, die in Ay endet

3) DPL+a+4  falls @ und nicht @ Fote @: \ A= A=A
OG- DPCi-A3C A folis @ und nicne @ FOPC @ 1AL~ A=A
W) MINADPLIITGH, DRG0 3+ 4 falls @ und @)
A fols wakr @ noch @

Bose Cose: DPULInd = 4

LF\ moximas ERement k. in DP-Toloe®e e OP I3
S, =Ry
Ry - 1A= Agiyl=A und. DPG)=DRPG4,51+4

Sea ™
Pigen 1Ay =Agol=1  und  DPLij3=DPLI WA+

5) i Entriie, Berechnung in O = QU



Exercise 7.4  String counting (1 point).

Given a binary string S € {0,1}" of length n, let f(S) be the number of times “11” occurs in the
string, i.e. the number of times a 1 is followed by another 1. In particular, the occurrences do not need
to be disjoint. For example f(“111011") = 3 because the string contains three 1 that are followed by

another 1 (underlined). Given n and k, the goal is to count the number of binary strings S of length n
with f(S) = k.

Describe a DP algorithm that, given positive integers n and k with k < n, reports the required number.
In your solution, address the same six aspects as in Exercise 7.1. Your solution should have complexity
at most O(nk).

Hint: Define a three dimensional DP table DP[1...n|[0...k|[0...1].

Hint: The entry DP[i|[j][l] counts the number of strings of length i with j occurrences of “11” that end
inl (wherel <i<n,0<j<kand0)<l<1)

A) s Hint

Q) Rose (oe: DPLAIOITEI= 4 fiir e 0
DPUAITA=0 fur 0 und Agyck

Rekursion: DPCiIC{ITeY = DPL-ALHITAl + DPG-4G 1T
DPC-AGAl  falls j=0

DPE'\'K)]U_J =
DPL-A1CIC0+ DPU-AM -] sonst

2) Berechnungsreinenfolge:

mit steige/\cbm i, ‘& 8@@,\6[\(\ Wert von st Rﬁlhﬁﬂ(&%ﬁ 2uwisdren J und K nicht refevant
4 Losurgy = DPCACKICO + DPLAIDETA

5) 0Wnk)



